

474

$$a) \quad \overset{-3y}{\cancel{6y}} + 17 = \overset{0}{\cancel{9y}} + 11 \quad \parallel -9y$$

$$-3y + \overset{0}{\cancel{17}} = \overset{-6}{\cancel{11}} \quad \parallel -17$$

$$\overset{-3}{\cancel{-3y}} = \overset{-6}{\cancel{-6}} \quad \parallel :(-3)$$

$$y = 2$$

$$b) \quad \overset{-7x}{\cancel{2x}} = \overset{0}{\cancel{9x}} - 28 \quad \parallel -9x$$

$$\overset{-7}{\cancel{-7x}} = \overset{-28}{\cancel{-28}} \quad \parallel :(-7)$$

$$x = 4$$

$$c) \quad \overset{4x}{\cancel{5x}} - 3 = \overset{0}{\cancel{x}} + 5 \quad \parallel -x$$

$$4x - \overset{0}{\cancel{3}} = \overset{5}{\cancel{5}} \quad \parallel +3$$

$$\overset{4}{\cancel{4x}} = \overset{8}{\cancel{8}} \quad \parallel :4$$

$$x = 2$$

$$d) \quad \overset{11t}{\cancel{12t}} - 41 = \overset{0}{\cancel{t}} - 7 \quad \parallel -t$$

$$\overset{11t}{\cancel{11t}} - \overset{0}{\cancel{41}} = \overset{34}{\cancel{-7}} \quad \parallel +41$$

$$\overset{11t}{\cancel{11t}} = 34 \quad \parallel :11$$

$$t = \frac{34}{11} = 3 \frac{1}{11}$$